
J. Org. Chem., 1997, 62(26), 9323-9325, DOI:10.1021/jo970145x

Terms & Conditions
Electronic Supporting Information files are available without a subscription to ACS Web Editions. The American Chemical
Society holds a copyright ownership interest in any copyrightable Supporting Information. Files available from the ACS
website may be downloaded for personal use only. Users are not otherwise permitted to reproduce, republish,
redistribute, or sell any Supporting Information from the ACS website, either in whole or in part, in either machine-
readable form or any other form without permission from the American Chemical Society. For permission to reproduce,
republish and redistribute this material, requesters must process their own requests via the RightsLink permission
system. Information about how to use the RightsLink permission system can be found at
http://pubs.acs.org/page/copyright/permissions.html

Copyright © 1997 American Chemical Society

http://dx.doi.org/10.1021/issn.0022-3263
http://dx.doi.org/10.1021/jo970145x
http://pubs.acs.org/page/copyright/permissions.html
http://pubs.acs.org/


Supporting Information

Characterization data for cyclohexenones 3a, 4a-i and 10.

5-Methyl-2-cyclohexen-1-one (4a): Rf= 0.43 (2:8 EtOAc:hexanes); bp 50 oC/3 mmHg

(lit.2 3 54 oC/5 mmHg); IR 1671, 1645 cm-1; 1H NMR 8 1.08 (3H, d, J = 6.6 Hz), 2.04 (1H, ddd of A

part of ABq, Jd = 2.7, 2.7, 9.7, JAB = 18.6 Hz), 2.12 (1H, d of A part of ABq, Jd = 12.2, JAB = 15.8

Hz), 2.22 (1H, m), 2.42 (1H, dd of B part of ABq, Jd = 4.5, 5.6, JAB = 18.6 Hz), 2.48 (1H, d of B part

of ABq, Jd = 3.6, JAB = 15.8 Hz), 6.01 (1H, ddd, J = 1.3, 1.3, 10.1 Hz), 6.96 (1H, ddd, J = 2.7, 5.6,

10.1).

6-Carboethoxy-5-methyl-2-cyclohexen- 1-one (3a): Rf = 0.22 (2:8 EtOAc:hexanes); IR

1731, 1677 cm-1; 1H NMR 8 1.09 (3H, d, J = 6.4 Hz), 1.30 (3H, t, J = 7.2 Hz), 2.05-2.22 (1H, m),

2.43-2.69 (2H, m), 3.12 (1H, d, J = 11.8 Hz), 4.26 (2H, q, J = 7.2 Hz), 6.08 (1H, ddd, J = 1.3, 1.3,

10.1 Hz), 7.01 (1H, ddd, J = 2.7, 5.7, 10.1). 13 C NMR 8 14.2, 19.6, 32.7, 33.0, 60.9, 61.6, 128.7,

149.8, 169.9, 194.5. HRMS calcd for C10H 14 0 3 182.0943, found 182.0956.

4-Methyl-2-cyclohexen-1-one (4b): Rf= 0.42 (2:8 EtOAc:hexanes); bp 58 oC/5 mmHg

(lit.27 45.0-45.5 oC/4.5 mmHg); IR 1683 cm-1; 1H NMR 8 1.16 (3H, d, J = 7.3 Hz), 1.68 (1H, dddd,

J = 5.0, 12.0, 12.2, 13.2 Hz), 2.12 (lH, ddddd, J = 1.2, 4.8, 5.0, 5.0, 13.2 Hz), 2.37 (1H, dd of A part

of ABq, Jd = 4.8, 12.2, JAB = 16.8 Hz), 2.49 (1H, dd of B part of ABq, Jd = 5.0, 5.0, JAB = 16.8 Hz),

2.55 (1H, m), 5.95 (1H, ddd, J = 0.6, 1.9, 10.1 Hz), 6.80 (1H, ddd, J = 1.5, 3.0, 10.1 Hz).

3-Methyl-2-cyclohexen-1-one (4c): Rf= 0.42 (2:8 EtOAc:hexanes); IR 1665, 1626 cm-1;

'H NMR 6 1.96 (3H, s), 1.99 (2H, t, J = 6.5 Hz), 2.29 (2H, t, J = 6.2 Hz), 2.34 (2H, t, J = 6.7 Hz),

5.88 (1H, s).

Isophorone (4d): Rf= 0.42 (2:8 EtOAc:hexanes); IR 1663 cm-1; 1H NMR 8 1.04 (6H, s),

1.94 (3H, s), 2.17 (2H, s), 2.19 (2H, s), 5.88 (1H, s).

3-Ethyl-2-cyclohexen-1-one (4e): Rf= 0.37 (2:8 EtOAc:hexanes); IR 1648 cm-1; 1H NMR

8 1.10 (3H, t, J = 7.2 Hz), 1.99 (2H, dddd, J = 5.3, 5.7, 6.2, 7.1 Hz), 2.25 (2H, q, J = 7.2 Hz), 2.30

(2H, dd, J = 5.3, 5.7 Hz), 2.37 (2H, dd, J = 6.2, 7.1 Hz), 5.89 (1H, t, J = 1.5 Hz); 13 C NMR 6 11.2,

22.7, 29.7, 30.8, 37.4, 124.5, 168.0, 200.1.

6-Methyl-2-cyclohexen-1-one (4f): Rf= 0.41 (2:8 EtOAc:hexanes); IR 1676 cm-1; 1H

NMR 8 1.15 (3H, d, J = 6.8 Hz), 1.74 (1H, m), 2.08 (1H, dddd, J = 4.2, 4.5, 4.8, 13.2 Hz), 2.36-2.45

(3H, m), 5.99 (1H, dt, Jd = 10.0, Jr = 2.0 Hz), 6.93 (1H, ddt, Jd = 1.0, 10.0, Jr = 4.5 Hz).



3,6-Dimethyl-2-cyclohexen-1-one (4g): Rf = 0.42 (2:8 EtOAc:hexanes); IR 1671 cm-1;

1H NMR 8 1.13 (3H, d, J = 6.9 Hz), 1.70 (1H, dddd, J = 5.1, 10.1, 11.6, 13.2 Hz), 1.94 (3H, s), 2.06

(1H, dddd, J = 4.2, 4.5, 4.8, 13.2 Hz), 2.24-2.40 (3H, in), 5.84 (lH, s).

2,3-Dimethyl-2-cyclohexen-1-one (4h): Rf = 0.39 (2:8 EtOAc:hexanes); IR 1666 cm- 1;

1H NMR 8 1.76 (3H, s), 1.93 (3H, s), 1.91-1.96 (2H, m), 2.33 (2H, br t, J = 5.7 Hz), 2.38 (2H, t, J =

6.7 Hz); 13C NMR 8 10.4, 21.1, 22.0, 32.4, 37.3, 130.7, 154.7, 198.5.

2,6-Dimethyl-2-cyclohexen-1-one (4i): Rf = 0.40 (2:8 EtOAc:hexanes); IR 1679 cm- 1;

1H NMR 8 1.14 (3H, d, J = 6.8 Hz), 1.72 (1H, dddd, J = 5.8, 9.2, 11.9, 13.0 Hz), 1.77 (3H, ddd, J =

1.3, 1.5, 1.8 Hz), 2.04 (lH, dddd, J = 4.0, 5.0, 5.0, 13.0 Hz), 2.31-2.42 (3H, n), 6.68 (1H, dddd, J=

1.3, 1.4, 3.5, 4.6 Hz).

4-Carboethoxy-3,5-dimethyl-2-cyclohexen- 1-one (10): Rf = 0.22 (2:8 EtOAc:hexanes);

IR 1717, 1663 cm- 1; 1H NMR major 8 1.08 (3H, d, J = 6.6 Hz), 1.31 (3H, t, J = 7.2 Hz), 1.96 (3H,

dd, J = 1.1, 1.3 Hz), 2.09 (1H, dd, J = 6.8, 17.2 Hz), 2.53-2.64 (2H, m), 3.02 (1H, d, J = 6.8 Hz),

4.24 (2H, q, J = 7.1 Hz), 5.97 (1H, t, J = 1.5 Hz); minor 8 1.10 (3H, d, J = 6.7 Hz), 1.29 (3H, t, J =

7.1 Hz), 1.97 (3H, d, J = 1.2 Hz), 2.28 (1H, dd, J = 4.0, 16.3 Hz), 2.38-2.51 (1H, in), 3.18 (1H, d, J

= 5.2 Hz), 4.21 (2H, dq, Jd = 1.8, Jq = 7.2 Hz); 13 C NMR major 6 14.2, 19.7, 22.6, 32.8, 43.0,

54.4, 61.2, 128.0, 155.9, 171.9, 198.0; minor 6 14.2, 18.5, 23.3, 32.0, 40.7, 52.2, 61.1, 128.2,

156.6, 170.1, 199.7; HRMS caled for C11H 16 0 3 196.1099, found 196.1107.



6-Carboethoxy-5-methyl-2-cyclohexen-1-one / IH

Current Data Parameters
NAME orIO-mj-jbd
EXPNO 2
PROCNO I

F2 - Acquisition Parameter:
Date 971011
Time
PULPROG
SOLVENT
AD
FIDRES
Dw
RG
NUCLEUS
HL I
DI
P1
DE
SFO1
SWH
TD
NS
DS

F2 - Pr
SI
SF
WDW
SSB
LB
GB
PC

10. 44
zg30

CDC13
2.9163721

0.171447
89.0
B192

1H
3

1.0000000
9.8

111.3
500.1377555

5617.96
3276B

16
2

set
Hz
us'

dB
set
us[
us'
MH.
H7

ocessing parameters
163B4

500.1354162 MH.
no
0

0.00 Hz
0

1.00

8

co
0)
0,
C0

ppm 9

C0
C,
0)
0

co

CU

47 6 5

m0 In
00 C 0 )I~

C), I I.

3

M

I 0

ID NMR plot parameters
CX 22.80
FIP 10.000
Fl 5001.35
F2P -0.300
F2 -150.04
PPMCM 0.45175
HZCM 225.93837

I I Li IA
cm
pPI
Hz

ppI
Hz

pPI
Hz.

JLI--, itj I

2

LK - -



4-Carboethoxy-3, 5-dimethyl-2-cyclohexen--one / 1H

Current
NAME

EXPNO

PROCNO

c 0 cy co

clm C C t 1!

I

Data Parameters
orlO-mi-jbd

1
I

F2 - Acquisition Parameter!

Date 971011
Time 10.40

PULPROG zg30

SOLVENT CDC13
AD 2.9163721 se,
FIDRES 0.171447 Hz

DW 89.0 us

RG 16384

NUCLEUS IH

HL1 3 dB

01 1.0000000 se

PI 9.8 us

DE 111.3 us'

SFO1 500.1377555 MH.

SWH 5617.98 Hz
TD 32768
NS 16

DS 2

F2

SI
SF

Www

SSB

LB

GB
'PC

- Processing parameters

16384

500.1354187 MH.

no
0

0.00 Hz
0

1.00

ID NMR plot parameters
CX 22.80
FiP 10.000

F1 5001.35
F2P -0.300
F2 -150.04

PPMCM 0.45175

HZCM 225.93837

cm

PPI
Hz

pPI
Hz

PPI
Hz,

I
a I

=- W- M-- I


